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COMPLEX ANALYSIS



Any questions or concerns? Anything unclear?
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INVERSES AND BIJECTIONS
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f 1s injective if and only if it has a left inverse.







f 1s surjective if and only if it has a right inverse.
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Make £ surjechie



If f is not b'iject'ivei but we want an inverse, we can:
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1. Restrict the codomain so the function is surjective.

——

2. Restrict the domain so the function is injective.
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Proposition 2.12 of BMPS:

If f : A -> B 1is a bijection with inverse g, and

1. f is differentiable at z_0
2. f’(g(z_0)) 1s nonzero
3. g 1is continuous at z_0

then g is differentiable at z_0 with derivative
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